College Trigonometry PRACTICE TEST #1 (5.1 -5.4) Name:é&&é&,mz.«ﬁ

Mrs. Robertson 72l /s Feb, 3=4  Homework is due. Felo, 4 elassTime.,

S$how woerk where work is required on the test. Please circle all answers.

Ne graphing devices of any kind allowed on this test.  All answers are exaet unless noted otherwise.

PART 1

1. Find the degree measure of the least positive angle that is coterminal with -1740°.
)5 o+ 3u K
— (740 = oL + 360°(-5)
174 = o — 1 FOO°
Z GO =A,

2. Convert 23° 27' 32" to decimal degrees. 3. Convert 51.74° to degrees, minutes and seconds.
Round to 3 decimal places is necessary. T X LO = Y, Y )
B+l 32 - 93 yrgge?
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4. Convert 105° to radian measure. 5. Change }%E to degree measure.
(05 °x I _ ?/7 [OR , 180 _ 400
/ $0° !’ ! 3 7R

6. Find the exact length of the arc intercepted by a central angle of 135° in a circle with diameter of 10 feet.

A=aAr o= c’an{’rafdnﬁ/e, invadeaws V= tadeid = ;(,(&dlng&&
135°= %ﬂ’ /‘=5/>&J' /L:_Z_ﬂ’.{)’#
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7. Find the exact value of sin () if cos(a) == and o is in quadrant I.

,d/o/z/d—+£“z,&t =1 Auf%"‘ £
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4 = S [aex-52)+ 3

8. Determine the following for: y = 3sin(2x — ) + 3

a.) amplitude = 3 b.) period = "

¢ /g‘ E‘
c.) phase shift = Lfughl & d.) vertical shift= /¢
(Indicate Left or RighQ) (Indicate Up or Down.)

e.) range = Eﬁ) 97

D, (a) Sketch one cycle of y = — %cos (Zx - g) — 1. Include the sketch of the parent function and each

transformation. You may use a hi-lighter to indicate your final graph. Be sure to indicate the units on

Zj"“"’ﬂﬂilt’z(x 7/?/)

the x- and y- axes.

A 4

(b) List the coordinates of the 5 key points (as ordered pairs) of the sketch of part (a) of your final graph.

%), (5-)CE-2) (1) (3 -)
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PART 2 Name:

10. What is the frequency of the sine wave determined by: y = sec(525mx) where x is the time in minutes?

11.  (a)Ify=sin(x)is shiﬁed-;E units to the right, reflected in the x-axis, vertically stretched by 2, and shifted
1 unit up, then what is the equation of the curve in its final position?

[:g:f - Qi (x-7%) + |

(b) Sketch one cycle of this function on graph paper provided. Label units on x and y axis.
Include the sketch of the parent function and each transformation. You may hi-light your final graph.
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12. What is the period for y = —3 tan (Ex) + 27 t?f;),@u.p A = ’6, gl



) ‘71“‘““‘;5 =47 -
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y= 2 o (3%

13. Find the equations of all asymptotes for y = 2 csc G x) in the interval [0, 47].
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14. What is the range of y = —3sec.@<) + 17
taw [-2, 4]
{Iu/ (-, 2| U [4, oo)]
— |
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